MA YPOKA:

'COKpPAIIIEHHOTO
YMHOXEHU S

] KJ1acc



a’-B’= (a-8B)(a + B),
(a-B)2=a?- 2aB + B? i

(a + B)2= a?+ 2aB + B?;
a®-B3= (a-B)(a%+ aB + B?);
a® +B3= (a + B)(a?- aB + B?);
(a - B)® = a3- 3a’B + 3aB?- B7;
(a+B)3= a3+ 3a’B + 3aB? + B°.



(5x+3)%;
(3p-29)*;
(7k-4n)(7k+4n);
(2+X)(4-2x+Xx2);

(4-a)(a’+4a+16).



OcCTaHyTCS Sin BEPHbIMKN DOPMY/ibl
COKpalleHHOro YMHOXeHU4, ecqin B HUX
BMecTo 6yKB a, B NoACTaBUTb J1tobble
LleNible Bbipa)XeHnsa?

[na 4yero npuMeHsATCa @OpPMY/ibl
COKpalleHHOro yMHOXeHnsa?
[lpnaymanTe npuMmepbl Ha NpUMeHeHue

MOpPMYN1 COKpALLEHHOr0 YMHOXEHUS Mpu
BblYNCIIEHUSX.



4x2-4x+1=0;

X3+ 3x%+3x+1=0:

ypaBHeHue:




+2;

+y)+(X+y)?+(x+y)?;

T€ Ha MHO>XMU
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1)a? -9

2) 10x% - 40y?

3) a3 + 125y3

4) x3 - 64y?

5) x%— 6xy+9y?

6) x> +12xy+36Y?



MTe MNMOJIHbIN KBaAp
€HOB:




Bagava AvodaHTa:

L




